

Apartment in Burmarrad



Burmarrad, North



€266,000

Reference No: 240011147-185

 Total Rooms: **5**

 Floor Area (m²) : **86**

 Bathrooms: **2**

 Bedrooms: **2**

Apartment - For Sale - Burmarrad

Burmarrad – This charming 2-bedroom apartment is located in the northern part of Malta. The layout comprises an open-plan kitchen, living and dining area, two double bedrooms, a main bathroom, an en-suite, as well as front and back balconies. The property is being sold in shell form. Optional garages are available within the same block. The property is freehold. For further information, please contact our listing agent.

Features

- ✓ Lift
- ✓ Entrance Hall
- ✓ Gypsum Plastering
- ✓ Balcony
- ✓ En Suite
- ✓ Soffit Ceilings
- ✓ Skirting

Rooms

- ✓ Kitchen/Living/Dining : 7.3 x 4 m (29.2 m²)
- ✓ Double Bedroom : 4.01 x 3 m (12.03 m²)
- ✓ Double Bedroom : 4.63 x 3.3 m (15.28 m²)
- ✓ Hallway : 8.7 x 1.14 m (9.92 m²)
- ✓ Bathroom : 1.98 x 2.26 m (4.47 m²)
- ✓ Shower Ensuite : 1.5 x 2 m (3 m²)
- ✓ Open Space : 1 x 4 m (4 m²)
- ✓ Open Space : 2 x 4 m (8 m²)

Gallery





Adrian Camilleri

RE/MAX Premium - St Julian's

M: 99865817

E: adrianc@remax.com.mt

T: 21384508

RE/MAX Premium - St Julian's

72/73, Gorg Borg Olivier Street, St Julian's, Malta